Total number of printed pages—4
53 (IT 301) COAR
2019

COMPUTER ORGANIZATION AN
ARCHITECTURE /
e~

Paper : IT 301 (Back)
Full Marks : 100 ",,

Time : Three hours
b ”‘E" *~sﬂ0¢
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full marks for the questions.

Answer any five questions.

1. (a) We have two designs D1 and D2 for a
' synchronous pipeline processor. D1 has

5 pipeline stages with execution times

of 3 nsec, 2 nsec, 4 nsec, 2 nsec and

3 nsec, while the design D2 has 8
pipeline stages each with 2 nsec
execution time. How much time can be

saved using design D2 over design D1

for executing 100 instructions?. 10
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6. Consider a 4-stage pipeline processor. The
number of cycles needed by the four
instructions 11, 12, 13, 14, in stages S 1,
S2, S3, S4 is shown below :

S1(S2|S3(S4
1 5 1 1
1211 | 31212
8. 1 ol D B Sl et Sl
14111212 ].2

What is the number of cycles needed to
execute the following loop ?

“for (i=1to?2)
{
| 6 5
12
4 1+
14;
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